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LAW
PAPER—II

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1.  Which one of the following statements is correct ?
(A) Directive Principles of State Policy are part and parcel of Fundamental Rights
(B) Directive Principles of State Policy override Fundamental Rights
(C) Fundamental Rights override Directive Principles of State Policy
(D) Neither override each other
2.  Point out the correct answer :

Right to education by the 86th Amendment of the Constitution has provided :

(A) education upto any level
(B) free and compulsory education upto 14 years
(C) education subject to financial capacity of the state
(D) education without considering the financial capacity of the state
3. A member of a House is disqualified if :
(A) he resigns from his party
(B) he becomes a Speaker of the House
(C) heis expelled from his party
(D) all the above grounds are correct
4. A constitutional amendment requires :
(A) a majority of the total membership of the House
(B) not less than two third majority of members present and voting
(C) asimple majority of the total members present and voting
(D) both (A) and (B)
5.  The harmony between Fundamental Rights and Directive Principles was laid down by
the Supreme Court in :
(A) The AK. Gopalan’s case
(B) The Golaknath case
(C) The Minerva Mills case
(D) The Champakam Dorairajan case

D—5806



fafa
TITuT—II

AE:  TH YIS H UeE (50) SIS U § 1 U Y9 %+ | (2) S ¢ W U %k ™
sy

1. =18 A W e wE © 2
(A) T & Hifq v aca Hiferss il & e1fersr o 7|
(B) TF % -ifq fevier q Wifeten etfurehdl W eTeamiel B
(C) Hiferer etfererR T & ifd fevres qel W eTeamiEl § 1
(D) TH TH F AR el 2|

2.  HE IRINT
dfaum & SarHd 9engT g gSs et w1 At
(A) Tt off TR a& foren
(B) 14 ¥H q& .3k wd sifard fen
(C) 9 & fasiia W & eT=aia farem
(D) T ! fosita amar T fomn fo=m = foren

3. A bl U™ I Y _6;1 Sidl % :
(A) ST U @ SAH S A R
(B) o€ WS I STeAe] Bl I B
(C) o€ Tt ardl @ fremifira =Y fean S §1
(D) SwsT Gt 3MUR Tel 1

4. Gaus GeE & fau =nfee
(A) WA & Tt ge= &1 SgHd
(B) SuTEerd W wd 27 ATl Wewl o1 &1 e agHa
(C) 3Ufeerd T8 0a < aTel 9e&l i HIYR0T SgHd
(D) (A) 3 (B) a1

5. Tifes Aty aun T57 & Aifa e 9@ & Te g gars = | e § 1
a1e | gfquifed foram e
(A) TF. TUeH & a5 |
(B) TIcTshIg & g |
(C) Toal faew % ag d
(D) TSUHH TREASH & a1 §
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10.

11.

12.

13.

14.

15.

16.

In the Islamic Academy of Education case guidelines were laid down for :

(A) Fixing fees by private educational institutions

(B) State Government Committee to conduct admission test

(C) Admissions by minority professional institutions to admit students of their own
community

(D) All the above

To strive towards excellence in all spheres of individual and collective activity is a part
of :

(A) GATT (B) ICCPR

(C) Directive Principles of State Policy (D) Fundamental Rights

Which one of the following Article is not suspended during enforcement of Article 356
of the Constitution ?

(A) Article 20 (B) Article 21

(C) Article 20 and 21 (D) Article 32

Who of the following jurists said that law is a Command of Sovereign ?
(A) Salmond (B) Julius Stone (C) Hans Kelson (D) Austin

Who of the following has made distinction between distributive justice and corrective
justice ?
(A) Plato (B) Aristotle (C) John Stuart (D) John Austin

Who of the following jurists propounded volksgiest theory ?
(A) Salmond (B) Savigny (C) Ihering (D) Ehrlich

Hypothesis of Grundnorm was propounded by :
(A) Austin (B) Diguit (C) Hart (D) Kelson

Adverse possession may lead to loss of :
(A) Possession (B) Ownership (C) Power (D) Liberty

The purpose of punishment is :
(A) recreative (B) refreshing
(C) reformative (D) none of the above

Monism and dualism theories are :
(A) Complementary to each other (B) Different from each other
(C) Similar to each other (D) None of above

Law making treaties perform the same function in the international field as the state
does by :

(A) Custom (B)  Public opinion

(C) Legislation (D) Delegated legislation

D—5806 4



10.

11.

12.

13.

14.

15.

16.

AT HSh TeheHT 1T TS[h¥M o 1 H Hale =amerd = AFeyH oM § :
(A) st Rerforr deensti § yow FruRko & fag

(B) T &q IO I o T ToF TR i HH o FoaY

(C) 319 HHSE o BTl ol oW 7 IgH oAk HAHIAh HeN3tl o Foorg H
(D) S9Isd 9t & Fsory |

ZfTd Td Tgod wramet & 9ot &5 § Schuar 7 99 T 9 ¢

(A) ST & (B) STE.H.EL.H.AR 1

(C) T & +ifq feves aal 1 (D) THifas iRl 1

GfGHT & STIoe% 356 o JHTET BF T 57 & 91 = afsed gl Sl g 2
(A) TR 20 (B) &I=% 21

(C) @TT==% 20 T 21 (D) 3TT==% 32

s # @ fom fafyr asm % wver on for fafy wowy 1 e 22
(A) HHTS (B) i@ VM (C) T Hhedd (D) enfeA

frem o 9 forgq ‘ faafa =ma’ 9en ‘<iv frares ' =g & 9 o= foran o ?
(A) = (B) oIfRwered (C) S =R (D) S sTfeA

9 ¥ 9 fow fafy asm 3 S=aw =1 fagia gfamfeq foeam ean?

(A) IMETE (B) dfeit (C) z=fm (D) TEda®
U i BENATTT hT STHTIAT i o :

(A) offed = (B) fegge (C) ®BEA (D) Head A
iR oeh ¥ B 8 Hehel ©

(A) oSt Hl (B) T@IHE &t (C) wifsa &t (D) T&asal i
TUE HT T |

(A) THIE JHIE (B) QTSI AT

(C) YGURHS (D) SYdsa H A #E Tl

g qen gaTeshdr g ¢ :

(A) TH T % T (B) T&H W H fu=

(C) T& T & §AM (D) ST H ¥ HE T

fofy s arelt Eieat a8t wrE St § S I R ©

(A) FAEN (B) W% Hd §N

(C) faum= gw (D) YA fasmE g/
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17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

Through recognition, a political community acquires :
(A) international personality (B) corporate personality
(C) political entity (D) political personality

United Nations was established in the year :
(A) 1941 (B) 1945 (C) 1944 (D) 1946

The Nauiila Incident relates to :
(A) Obstruction of ships (B) Reprisals
(C) Retorsion (D) Embargo

Article 22 of the Universal Declaration of Human Rights corresponds to which one of
the following Articles of the Constitution of India :

(A) Article 21 (B) Article 22 (C) Article 25 (D) Article 29 (1)

The European Social Charter came into being in the year :
(A) 1962 (B) 1961 (C) 1963 (D) 1964

Main reason to include Human Rights in the UDHR was :

(A) French Revolution

(B) English occupation of North America

(C) Moral principles

(D) Bitter experience of mankind during the first and second world wars

In which of the following case, the Court held that “Dower is a sale price of women”.
(A) Humara Begum Case (B) Subrunnissan Case
(C) Shah Bano Case (D) Abdul Kadir Case

In which of the following case, the Supreme Court held that “The three talaq would be
treated as a single talaq and not a valid talaq” :

(A) Shamim Ara v. State of U.P., AIR 2002 SCW 4162

(B) Mohammad Ahmad Khan v. Shah Bano, AIR 1985 SC 365
(C) Bai Tahira v. Ali Hussain, AIR 1979 SC 362

(D) None of the above

If a Husband compare his wife with his real sister, this form of divorce is called :
(A) Zihar (B) Khula (C) Illa (D) Mubarrah

A marriage under Hindu Marriage Act, 1955 between persons within Sapinda
relationship is :

(A) Valid (B) Voidable (C) Void (D) Irregular

D—5806 6



17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

A= T & WeAd | Yefds TS T R ol ¢

(A) I Ffad (B) WHgh Ao

(C) TSHfdesr 3TfEde (D) TSHid® =i

T TP T T G off ¢

(A) 1941 (B) 1945 ¥ (C) 1944 (D) 1946 ®

SSell SIS Feelf-4d ¢ :
(A) RSl o a0y 9 (B) waamEma (wfafedn) @
(C) st wrfamEt & (D) =R gfavy |

AR o Heord H WIe e Soun &1 STIess 22 YRAd Siae™ & 57 fha o= 9
fererar S[eran ® -
(A) ¥IBI21  (B) TR 22 (C) TR 25 (D) =R 29 (1)

AT | TS99 a9 H @] gem @
(A) 1962 ® (B) 1961 ® (C) 1963 ® (D) 1964 ®

AR 1 Ara i = § gfenfad s o 38 o :
(A) 9 &I Hifd

(B) 3iUSI o1 35 THRERT W 31feae

(C) Hfaw fas

(D) 9o wd fgdfta 7ergg & U Al % Hg WA

=1 4 4 frm o A =marera 7 =g gfaufed feen © f A ot 1 fasht =t a7

(A) THI STH HT AR (B) WM 1 d1Q
(C) & &I 1 &8 (D) 35T IR 1 918

=1 9 9 g o o S=aw = 1 giqurted foran € for  faew ot we &1 et |/ S
3R 7% Y Tl el e’

(A) THH AW T IR Fo¥ T4, AIR 2002 SCW 4162

(B) THIESHT 3T8HE WM MY E &M, AIR 1985 SC 365

(C) o dfeq oMM 37el g&F AIR 1979 SC 362

(D) STd § @ FIE ot 7

3R e fd AU Ufcd b1 T 31O M I8+ ¥ Sl §, TATh h1 I8 THR HEaART :
(A) fSER (B) el (C) gam (D) HIRE

feg foame e1fufTem 1955 % STTUR Weifa Aesreiial & o= &1 faarg g :
(A) fafgam= (B) I HUM (C) A (D) sfafaa
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27. Muta marriage is recognised by :
(A) Hanafi School (B) Maliki School
(C) Ithna Ashari School (D) Hanbali School

28. Match List-I with List-II and indicate the correct answer using the codes given below :

List-1 List-11
(a) Ashok Hura v. Rupa Hura case (i)  Restitution of Conjugal-Rights
(b) Bipin Chandra v. Prabhavati (i) Uniform Civil Code
(c) Sarla Mudugal v. Union of India (iii) Dessertion
(d) T. Sareetha v. State of A.P. (iv) Divorce by Mutual Consent
Codes :
(@) () () (@)
(A) @@ @) 3> (Gv)
(B) (v) (i) () ()
© (@) @) @) 3Gv)
(D) (v) (@) (1) ()

29. Arrange the sequence of the following concepts in which they appear in a contract,
using the code :

(i) Communication of acceptance (ii)) Deceit
(iii) Invitation to offer (iv) Damages
Codes :

(A) (i), (iD), (i), (iv) (B) (i), (iv), (i), (i)
(C) (i), (i), (), (iv) (D) (i), (ii), (@), (iv)

30. Point out the correct explanation from the following Assertion and Reason :
Assertion (A) : Consideration must be market price of offer.
Reason (R) : Offerer must get equitable price for his offer.
Codes :
(A) Assertion and Reason are wrong

(B) Assertion and Reason are right
(C) Assertion is right, but Reason is wrong
(D) Assertion is wrong, but Reason is right
31. In the Nash v. Inman case, the issue was :
(A) minor’s liability (B) frustration
(C) fraud (D) misrepresentation

32. Contractual remedies are provided by the Indian Contract Act, Section :
(A) 56 (B) 65 € 73 (D) 37

D—5806 8



27.

28.

29.

30.

31.

32.

a1 foemg forereh g0 A=ramTa & ?

(A) T T (B) et T
(C) 3o T e (D) &aTl e
Tom g H1 qHd g @ fiam ey ok T e T ey @ shEe w3 gy 3t SR
ST |
gt - 1 et - 11
(a) ST T STAH &1 U T A1 () e ARl 1 g
(b) ol == Im guradt (i) HHM S8R Hied
(c) X HSTdl oM WRd 9% (iii) RIS
(d) J.Thd T Y ToW T (iv) STIEt TeHfa o faare faw=s
g

(@ ® () (@
(A) (1) @) (D) (iv)
(B) (v) (i) @) (@)
(C©) (i) @) @ (@)
(D) Gv) @) @ (i)

frefafea #ie &1 swaa w3 gu Feafafad saamomst w1 sq %9 # fafed o 9 gfaa
H I Bt § 2

(i) TiHRfd #1 H9ER (i) erETEEt

(iii) IE=E HH H1 FHA (iv) arfaqfd

¢

(A) (i), (i), (), (iv) (B) (i), (iv), (i), (i)
(C©) (i), (@), (i), (iv) (D) (i), (i), (@), (iv)

frefafaa Sfyeam IR a6 & STUR | T& TISHT TS -
afireRem A: Ui Y&ITE T AR Hed BT e
Th R: TGS & S8 F&TE 1 <AEEd e I g1 =g
¢

(A) Ifwys Td 9% Tord § |

(B) Afere Tel aeh TEl B |

(C) aifere TR B, Aifeha 7 Tora §

(D) Af9ehe Terd 8, Afeh qeh Tet §

T S S o o1e H feenafag o
(A) 3TTTF HT I (B) fowear (C) @ (D) TATRIM

qR Hfeer stfufram o diaeers ST=R & Yey™ =1 oa) o fean 7 g
(A) 56 (B) 65 ©C) 73 (D) 37
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33.

34.

35.

36.

37.

Some, all or none of the following statements are right. Answer using the code :

(i) A minor’s liability for necessaries depends on his consent to supply the necessaries
to him.

(i) An infant is capable of making a contract of purchase of necessaries.
(iii) A minor has to pay agreed price for necessaries.

(iv) In Peter v. Fleming, (1840) 6 M and W 92, the court took judicial notice that it
was Prima Facie unreasonable that an undergraduate at a college should have a
watch and a watch chain.

Code :
(A) All are right (B) All are wrong
(C) Only (i), (ii), (iii) are right (D) Only (ii) is right

Some, all or none of the following statements are right. Answer using the code.
(i) A help given or promised to a dancing girl is not tainted with immorality.
(ii) Public policy is an unruly ass.

(iii) A wife who is entitled to maintenance can give up her right in consideration of a
lump sum payment, but the surrender of the right to claim revision of the amount
in the context of rising prices would not be opposed to public policy.

(iv) A contract for sale of goods whose tenor shows that the price was intended to be
paid out of black money is opposed to public policy.

Code :
(A) All are right (B) All are wrong
(C) Only (i), (i), (iv) are right (D) Only (iv) is right

Which of the following is the correct statement ?
Vicarious liability means :

(A) Liability without fault

(B) Servant’s liability for the wrong of the master
(C) Master’s liability for the wrong of the servant
(D) Damage which could not be prevented

The tort involved in Hurst v. Picture Theatre Ltd. case is :
(A) Defamation (B) Nuisance

(C) Negligence (D) Trespass

Res Ipsa loquitur means :
(A) as you sow, you reap (B) guilty shall be punished
(C) the thing speaks for itself (D) the guilty speaks lies

D—5806 10



33. 7o %ol 6 4 9, 9 iR T off W&t 721§, IS 1 TN Hd gL S A
() 3Tk Hi AEIERasl & ford g ifae 38 a1 W fk war ® T saverearen
&1 gfd 3"t wenfd 9 g <
(i) U iy smavaRarsti #i wWiied & fod Hfae w0 § wem T
(iii) 3TIIH AETIHAS & o3 Teud qoa o7l FA & o 5neq ¢
(iv) e oM SAfHT (1840) 6 M & W 92, o 91 | =T+ =ATTaeh 3THET i hierst &R
R UF 8 S TS 3R T HI =T W FE FUH g5 ST T

¢
(A) | wE ® (B) @i Tera &
(C) Tah (i), (ii), (iii) T & (D) fad (i) &t &

34. 77 Fordl § 9 5, 9+t iR TF ot W& T ©, FIS 1 TAM W G oW I
(i) Td% ASH! T AEE A1 U <A H1 FEET FHIAT STTaehdl I 9 SO &l 7|
(i) o fet TR At e )
(ili) e IfcT S YIROT U1 YT A i SIHHR T 3797 SATHRR 1 THS Uikt I ik
IS Thdl §, AR Joagfg T TR 4R G0 & H:Je107 T TR HT W FET Al

Hifa & foeg & 2

(iv) T fosha &1 dfaer e og <9 T €, T 56t o wened | 9 o1 fhan s,
i ifd & faeg B

¢

(A) wft Wt ¥ (B) Wt merd §

(©) &% (), (i), (iv) & © (D) fak (iv) & ?

35. ot ol § @ 6 @1 weE 9 R
gfaffue e w1 o1 7
(A) o R & <o
(B) WIfeTsh H T & HROT Ah HT IS
(C) IeRY o G o HRUT HifcTeh I QI

(D) &ffsT S8 Ikt <TeT ST Sehell o

36. B aW foo=r foR fafee & o o wife i € -

(A) WA (B)  TIgH (C) 3uam (D) effe=m
37. ‘W AR’ | A ¢

(A) ST SER 9T FHREM (B) Tt = gfved fohan S

(C) =1 & sierdl § (D) <t g3 sern §
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38.

39.

40.

41.

42.

43.

Damnum Sine injuria means :

(A) an objective right

(B) suffering of loss without violation of legal right
(C) violation of legal right and suffering of loss

(D) violation of legal right

This item consists of two statements. One labelled as Assertion (A) and the other as
Reason (R). Examine these statements and decide if the Assertion (A) and the Reason
(R) are true or false. Select your answer using the code :

Assertion (A) : Law cannot take account of everything that follows a wrongful act.

Reason (R) : Causes of causes or consequences of consequences are outside the
scope of liability.

(A) Both (A) and (R) are true (B) Both (A) and (R) are false

(C) (A) is true, but (R) is false (D) (A) is false, but (R) is true

Mark the correct answer in the following statements :

(A) Dangerous goods arise on proof of negligence

(B) Strict liability arises only when the thing causing harm escapes
(C) Liability for dangerous goods in India is absolute
(

D) Liability for dangerous goods in India is strict

Defence of insanity under Section 84 of the Indian Penal Code requires :
(A) unsoundness of mind of any kind (B) legal insanity

(C) medical insanity (D) moral insanity

In which set of sections of the Indian Penal Code even death can be caused in exercise
of right to private defence of person and property.

(A) Sections 100 and 101 (B) Sections 100 and 102
(C) Sections 100 and 103 (D) Sections 102 and 105

Point out the correct answer :

‘A’ instigates ‘B’ to instigate ‘C” to kill ‘D’. Inpursuance of that instigation B writes a
letter to C to kill D. C does not read the letter. Therefore :

(A) ‘A’ and ‘B’ are liable for abetment of murder.
(B) ‘A’ is liable for abetment of murder but ‘B’ is not liable for abetment of murder.

(C) ‘A’ is liable for abetment of murder but ‘B’ is liable for attempt to abetment of
murder.

(D) None of the above is correct

D—5806 12



38.

39.

40.

41.

42.

43.

for aafa & & w1 1d T -

(A) T T AR

(B) fafye SIfHeR & 3@ & fofl THE™ T8 &L
(C) fafye ifeR #1 3EeM iR THEM Te wT
(D) fafus sifysr =1 Iecte

T U U T FHUA E T Afymed ‘A’ SifRd § aw g AE ‘R’ 3 FHEA 61 Wit iR
argd f fyspem ‘A’ 3R T ‘R’ T AYET TTeTd | IS Y HES ¥ AT SR IR |
afvere ‘A’ fafy <7 it 9=l o1 fewma & @ weRd! e 9Rom Ffeqel et g B |
% ‘R’ : FHhI T HROT AL TROTHET 1 IR e § SRR A e § |

(A) THi‘A’SR'R’ TR (B) <M ‘A'3R‘R'Te I

Q) ‘A'wE T, afed ‘R'TTed B (D) ‘A’Ted g, &fdd ‘R’ R T

1 el # | Wt IR SfoRd i

(A) ST T&E SUel % fag 8 W Seael Bt §

(B) hoR IIMIE Tt 39 BT § 59 TohEM it ATl 9% fadeh S
(C) TawT UMM & fodl vra § <ifore anefaes @

(D) Wawes MM & ford wrd o efae wer ®

TRAT TS Tiedl 1 ¥R 84 % Ted UMY % o=1d & fod qawash ¢ 1 :
(A) &g o goR =t wfeass &t fagaa (B) fafuer amTeraH
(C) Tafecasa arTe A (D) Afaw IR

IR <€ Wieal &1 fha g0eT o W9g § =Afed T8 ¥t & Yrgele Fiawell & TR § g a6
G T ST Fhall © -

(A) ®TT100 3R 101 (B) # 100 3R 102
(C) 100 31k 103 (D) ®W102 3R 105
TE I 3079 HifS :

‘AVB'ENC D Sl s i & ol SHAT €1 39 SHEE &SR0 B, 'CH D
T A & ford o fermar €1 ' C' o 7 e §, 9o

(A) ‘A’3R'B' e F A & fod fmeR B

(B) ‘A’ T % SHUE F o feier € fer ‘B’ g & SohEE & ford foeier =i €1
(C) ‘'A’'TN % SHAME F fod fier safe ‘B’ &cn & WA & fod Sdma &1 fSeier 7 |
(D) SWH IV FE ff T T T
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44.

45.

46.

47.

48.

49.

50.

Point out the correct statement.

Crime is :
(A) anillegal act (B) an immoral act
(C) anillegal or immoral act (D) anillegal and immoral act

Point out the correct statement :

A and B went to cause murder of C. A was with a spear and B was with a stick. B
caught C and beat C with stick. A did nothing while B was beating. When C fell down
and became unconscious A took him to a nearby hospital for care where he died.

(A) A and B both are liable under Sections 302 and 34 of Indian Penal Code.

(B) A isliable under Section 302 of the Indian Penal Code but B is liable for nothing.
(C) Bis liable for murder and A is liable for abetment of murder.

(D) None of the above

In which of the following case, the Supreme Court held that “the members of non-
recognised union cannot be represented in collective bargaining proceedings or individual
grievances of its members”.

(A) Chairman, Bank of India v. All Orissa State Bank Officers Association (2003)
3 ILJ 751 (S.C.)

(B) W. Willard Wirtz v. Hotel and Club Employee’s Union, AIR 1969 SC 25
(C) Indian Oxygen Ltd. v. Their Workmen, AIR 1969 SC 306
(D) None of the above

The Supreme Court has awarded twenty lacs rupees as a compensation in the case of
“Bandh” calls given by political party/parties. Select the correct one from among the
following :

(A) Communist Party of India (B) BJP
(C) Both (A) and (B) (D) Congress Party

The Indian Trade Union laws is a replica of the Model prevailing in :
(A) England (B) France (C) America (D) Australia

Lay-off means :

(A) removing a workman

(B) retirement of a workman

(C) dismissing a workman

(D) inability of employer to provide work to a workman

Retrenchment means :

(A) Voluntary retirement (B) Dismissal
(C) Discharge of surplus labour (D) None of the above
-00o0-
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44.

45.

46.

47.

48.

49.

50.

TET YT H IATT HIT

3T |

(A) TH 99 Fr (B) T sTifa® &

(C) T 1Y 37qdl Tfaes & (D) U& 3y TS AAfasw H1d
TR HYA 1 AT BT :

‘A'SIR'B'C' I TN FA F @ T AT U uTen ot 3R B F Uy gt oft 1 ‘B’ C’
%! Thel SR ARSI ¥ der| 1d ‘B’ feE @ o' A’ 3 9 1 fohan | 519 €' A= iR s
AT R TN A SH FHIY F TEIA AN & T & T SRl STt o # R |

(A) ‘A'3R'B’' Ml IR TUS Wigar HT ¥ 302 IR 34 F T AR B |

(B) ‘A’ KT TUS Higal sl €W 302 o T&d fSTHeR § Selfeh ‘ B foredt o o ford fieiier & €1
(C) ‘B’z & ford fieR B IR A’ &I & &1 SHdM & ford fSsier 81

(D) SWIsd H | HIE Tl

S=an e 1 o9 | 9 6w g | gfawifea foven for  wmfes dier &t wrfar # 1)

TIAT T Hl o Haed Fia{eed el oh Gehd STl 379 USH ohl SATeaiTa frehraa o 9%

TRl T TRl |

(A) FITH, S AT 3foean I S1iel SSrE1 W2 deh ATRITd TARGAH, (2003) 3 3TE. TS,
751 (TE.4l.)

(B) Ty foaire oS oMM BIedd Td Soidl hAAN |H, T3, 371, 1969 TH.H. 25.

(C) zfUeam stisdiom fafgee sMM™ 3% FHIW, TITRE.STR 1969 TH.G1. 306.

(D) STd § @ FE ot 7

ST d1é1/qIfeal o STeamed W '&]’ & 918 § IAqr =aed 1 9 A w99 gidet ST
T W S |

freAfafad § 9 T T&1 &1 999 HiT :
(A) YR g ael (B) S
(C) (A) 3R (B) Sl (D) 0 e
IR e oo fafear, fo § yafaa T & gfeew §
(A) T (B) W (C) smafw (D) steferan
HI! 1 A
(A) THHBR I A (B) H®R i TaTgra
(C) THHBR hI TG (D) HHBR DI & < H AT i sTHmeda
BT 1 o7 ¥
(A) TWfss® gafafs (B) S@TE
(C) ST HSIgX &l Hag (D) STd H 9 Hr5 off T
-00o0-
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